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ﬁ%ST:
() ol o9 sifE ¥
(i) 9T &% 1§ 5 7 agghre U & | @) fywew 5 o, Naw @™ 6 o,
HET SIS 5 ofs, U& arag § IO 6 3%, T oTGT F WU 6 % Praita ¥
(i) 997 %A% 6 | 20 7% F U sviaies fwmw e o ¥
(iv) 99T &Hi% 6 § 13 9% T 999 & g 2 ofw Fraffg ¥ o= dmr 30 o=
(v) WsT %% 14 9 17 9% Td% 997 & f9Q 3 ofe Froifea ¥ g €1 75 o=
(vi) Wed ®Hiw 18 & fau 4 o fHuifa ¥1 s dmr 120 =1
(vii) WeT wHie 19 TF 20 & fou 5 s fruifa &)
(viii) W9 AT 19 Td 20 fa99 U8 9g & AHfas & gft ¥ wafta ¥
Instructions :

(i)  All questions are compulsory. | |
(i) Question No. 1 to 5 are objective type questions. Choose and write the correct

options 5 marks, Fill in the blanks 6 marks, Match the correct pairs § marks,
Answer in one sentence 6 marks, True/False carry 6 marks.

(iii) Internal options are given in Question No. 6 to 20. .
(iv) Question No. 6 to 13 are assigned 2 marks each and answer should be given in

ds.
g&gﬁgn No. 14 to 17 carry 3 marks each and answer should be given in 75 words.

(vi) Question No. 18 carries 4 marks and answer should be given in 120 words.

i h.
i -stion No. 19 and 20 carry 5 marks eac |
:::1'1}) 83;:};211 No. 19 and 20 releted to fill up the map of. World and the map of India.
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1 @ fameq TA@e foRaT 1x5=5
(37) Frefefag & & fpa AR@EN o SEEn gfy gt §7

(i) ST (i) aféror apder
(i) I SHTCH (iv) ufymar
(@) WA faw@ & s@aren Frafafas § @ feg fogm & 39 ¥
(i) YW (i) 1. TegI-IA-TH
(iii) . I EF (iv) 9. IR
(7) wfma @9 § amfes oy @ Prafifaa ¥ @ @ wed €7
(i) g (i) BrE@Er
(iii) P (iv) & wiftfm
@ = A8 &A@ uww ey o ?
(i) 9T FiY (i) Pt o
(ili) ST0 (iv) =i - oM By
() @ ofit wwelt Tremgar deear @ wRioew Reed Rear ere
(i) &t (i) =ATgT
(i) Tz (iv) fafey e

Choose and write the correct options :

(a) Which of the following continental has the highest population growth ?
(1) Africa (i1) South America
(i11)) North America (iv) Asia

(b) The concept of Human Development is the contribution of which of
the following scholars 7
(i) Ratzel (i) Dr. Mahboob-ul-haq
(iii) Professor Amartya Sen (iv) E.C. Samuel

(c) Which of the following is called collective agriculture in the
Soviet Union ?
(1)  Thuming (1) Kolkhoz
(iii) Milpa (iv) Trunk Farming
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(d) Which one of the following do not tollow Monoculture ?

(1) Plantation agriculture (i) Mixed farming
(iii) Dairy farming (iv) Commercial grain farming

() Who propounded the concept of wait and go determinism?

(1) Fabre (i) Blash
(ii1) Ratzel (iv)' Griffith Taylor
2w w A Of df 1x6=6

(i) ®F 2011 & ICER WG B TGS HUT T

(i) W s sRex gel o fmamsia & w qitadAeie
gedl @ arad & ¥ ‘

(iii) "M @™ &1 srqu | fagm & 3 ¥

(iv) g H BN HEC ® |

(v) el BN & §ha gl _ g A fer mar ¥

(vi) wrRa ¥ fasreem o wqE i

Fill in the blanks :

(i) India's population as per 2011 census is crore.

(i) Human geography is the study of the changing relationship between

the unresting and the unstable earth.
(iii) The concept of Human Development scholars
introduced.

(iv) Growing of flowers is called

(v) Co-operative farming was the most successful experiment in the

country

(vi) The largcst linguistics group of India.
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1x5=5§
l T
(a7) wRPhH TR (i) wfen
S (i) arerorey
(|) W@ B qUE GO S (iii) 1881
(3) WS B FTEHE T (iv) or iy
3) @I TR (v) 382 =ofm gfy =i fsd
Match the correct pairs |
A L B -
(A) Cultural town (i) Jharia
(B) Coffee (ii) Varanasi
(C) Complete first census of India  (iii) 1881
(D) Population density of India (iv) Plantation crop
(E) Mining town (V) 382 person per sq. km
4 us g9 o s9¢ fefag 1x6=6

() @ < vgE WX A @ e

(i) =oF ord i Fw E?

iii) warq fRY wEd ¥7

(iv) wfmar @ R SE e ¥2

(v) 2011 & STOEn % SER YR @ R Toe § T SEEEr @
gaTd gaifas &7 N

(vi) mwmﬁmwmm—mwwm%?

Write answer in one sentence :

(i) What is any two main fibre crops?

(i) What is current fallow land ?

(i) What is migration ?

(iv) What is population of density of Asia? o |

(v) Which state has the highest proportion of urban population in India
according to 2011 census ?

(vi) What are main Iron and Steel industry of U.S.A.7?
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WJW E%"‘Iiigll : lxﬁ_ﬁ
(1) T E=E wge )

(1) 59 sl damae ¥

(i) %% H 0 T B ww ¥

(iv) q9% G &1 99 920 o o
(v) PESM EC@TME Fon 78 @ ompRam ¥

(vi) wwﬂ%%ﬁmw&@ﬁmwdﬂaﬁum&@

Write true or false :

(i) Sugarcane is a food crop.

(1) Water as a non-cyclic resource.

(i) Mica is also called brown diamond.

(iv) Mumbai is natural biggest port of the India.
(v) Kolkata port is located on the Krishana river.

(vi) Drought Prone Area Programme was initiated during the Sixth five
year plan.

T T wrewq wdwn B A 92 FH-Y ¥?
What are the two objectives of Namami Gange Cleanliness Programme ?

aya | OR
et gquu & U wiEl fafag

- What are the two disadvantages of noise pollution 9 Write.
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7 EoER w1 &7 fARag
What is possibilism ? Write.

dyar /| OR

vatqeei fryagar @ &0 fafgul

What is environmental determinism ? Write.

8 SWEE UREdd ® geE B F E?
What are the components of population changes ?

a7 | OR
TEE % B 9 Waey B ¥ E?

What are any four factors of migration ?

9 voeH fee wed ¥7
What are emigrants ?
s | OR
fava § vo weEEm T & oRw & ¥ UE R

There are many areas of high population density in the world,
why so?

10 Frafe N 7w %7 fafeg)
What is subsistance agriculture ? Write.
sy | OR

wewrd iy Red wed ¥

What is co-operative agriculture ?

/ U607 D H-9 6 [AMUAR DG OB



the largest share of Indian workers

enganged in the agriculture
sector ?

qyar / OR
UG I LI IR S SRV

What are the three categories of worker in India ?

12 e @) T R wRd 37 Rife
What is the garrison (military) town ? Write.
syt [ OR
o R fam & wqm ts'_i'sirzﬁ:rr%_.?'

What is the main objective of Smart City mission ?

13 ;mam%ﬁﬂﬂiﬁqﬁa%ﬁ%é’rﬁlsmﬁﬁvrﬁam ‘ 2
Write any two characteristics of trans siberian railways.
@ | OR
Jeat AT fFY HEd § 7
What is Retail Trading ?

q & @ R 7
4 iy gen gy Tl & & TG A N
Market gardening i practised near urban area, why ?

gum [ OR
%ﬁﬁﬁ@qfaﬁwﬁﬂﬂ%} ¥?

Wh three characteristics of mixed farming ?
at are any
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15 w%wwﬁmnﬁﬁaﬁmwmwﬁmﬁw‘f%?
Why do some states of India have high rates of work participation than
others 7

qyw /| OR
wr @ e & B AR R e ¥

What are any three characteristics of Indian population ?

16 IR R e w REE W R GHAEE 96" 917
What was the positive impact of Indira Gandhi Canal on irrigation ?
sy [ OR :
g § w6 w8 wafedm wwad #a-d €7 fafeg
What are any three environmental problems of land resources in India ?

Write. https://www.mpboardonline.com

17 & T8 F By 49 e fafEe
Write any three ‘importance of Suez canal ?
. g /| OR
TROME F oraUEE TR % A9 S w wed E7

Why is a port called the gateway of International trade ?

18 YR S R FEET  BE ¥ OGS o T g ?
What social benefits did Bharmaur get from trible program ?
syar /[ OR
St % Towr wd sqeuIrE aal A e s fafeg )

Write four differences between Conventional sources and Unconventiong]
sources of energy.
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19 faﬁ%ﬁﬁ@‘!ﬂﬁaﬁasﬁnﬁwﬁﬁwmw 1x5=5
fofan |
(1) ﬂg‘ﬁmmﬂrﬁmwwﬁamm%ﬁ
(i) i & frw wvven @1 8
(i) €= ey
(iv) ZE seafas Yaunt
(V) 9% s=Tme

Identify the following places shown on the given map of the world and
write the names.

(1) Cotton producing region of the United States of America
(11) Australias sparse populated regidng-:f
(iii) Suez canal
(iv) Trans Siberial railways
(v} Port of Mumbai
s | OR:
fagg ¥ TR A 29l M W ® TENEHT o AW fife

(1i1) mﬁmﬁﬁmmﬂww%ﬂ |

(iv) Rl omifer & Fford QAT &

(v) T & W IARE &

Identyfy the following places shown on the given map 0_f the world
and write the names.

(i) Sydney

(i) Trans Canadian Railways

(iii) Africa sparse - populatccl region

(iv) Commercial Animal Husbandry region of South America
(v) Rubber producing region of Malaysia = -
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20 wa & At A Fefafes @ gz 1x5=5
(i) sha med 71w
(ii) 7=
(ili) Faifi®s Jz Iams &
(Iv) A9 T99& 999 &1 &8F
(V) &S - R - i e e
Show the following on the map of India :
(1) Indira Gandhi Canal
(11) Mumbai
(i) Highest Jute producing region
(iv) Lowest density area
(v)  H.V.J. (Hajira - Vijaypur — Jagdishpur) Gas pipeline
sya /| OR
IR & Tty ¥ e @ e
'(i) I &9 IWEE &
(i) daity®s SO 999 &1 &5
(i) @aifted Hear sacs &3
(iv) feaig
(v) fareh
Show the following on the map of India -
(1) Largest cotton producing area
(i) Highest density of population of India
(iii) Largest coffee producing area
(iv) Digboi

(v) Singareni
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